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«

. .2525 . .2540 16
logarithm  form

«

DG = a GDP™' PG™® INF>® POP™ &"

log DG = log a + b, log GDP + b, log PG + b, log INF + b, log POP + U

DG =
(gypsum board consumption) ( )
GDP = (gross domestic product)
( )
PG = (wholesale or ex-factory price

of gypsum board) ( ; )



AURLIYU WUIUIAKNE



autocorrelationl
4.1
logarithm ~ form
(log PG) -3.74
1
& |
(log GDP) +0.18
1
0.18
(normal goods)
(log INF) +0.33
1
(log POP) +16.40
1

IBTO] LHTHcfiff AL 148-162.
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3.74

0.33



16.40

norma! goods a
? -3.74

+0.18 +0.33  +16.40

4.2 . (Projection of Demand)

.. 2525-2540

4.1

log DG = -1 73.98 +0.18 log GDP-3.74 log PG+0.33 log INF+16.40 log POP

(8.43)  (0.16) (0.45)  (0.39) (0.94)
(-20.64)  (1.15)  (-8.24)  (0.85) (17.40)
R2=0.999  DW-stat=1874  F-stat 3,849.672
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-R2
- DW-stat
- F-stat

. 2541-2544
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. 2540-2544)

(GDP)
(pop)

GDP)

(IMF)
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standard error
t-statistic (t-stat)
adjusted R-square
Durbin-Watson statistic

F-statistic
?)
4
8
(GDP)
4
(PG) (INF)
(gross domestic product) (
.. 2540
8
10 . 2]
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8
254Q-2544 2540 2541 2542 254-3 2544

8 25 35 55 S5 5
(-0.4) (-3.4) 18f 3.4f 3.7f
1.0 1.0 10 10 10 10
7
- F Forecast
.. 2541
.. 2541
( )
(GDP) (POP)
(1) (2)
( ) ()
2540 4,804,000 60,600,000
2541 5,076,000 61,200,000
2542 5,583,000 61.800,000
2543 156,000 62,400,000

2544 ,102,000 62,900,000



25 .. 2541
.. 2541
.. 2540 26
2542 .. 2541
5 .. 2544
.. 2540
.. 2541
.. 2541-2544
2540 5.907
2541 7.454
2542 7.850
2543 7.850

2544 7.850
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(innation) ( inf)

2541 !
(00 )
1 (%) (2525 =1
2540 5.6 185.1 7
2541 116 206.65
2542 6.0 219.05
2543 5,0 230.00
2544 4,0 239.20
2 .. 2541
( «)
3.

41 ?!
4 ?) .. 2541 -2544



AURLIYU WUIUIAKNE



350000

300000

250000

200000

150000

1

100000

1

1

50000

= |

—— 1Butun1sUinAass —B— 1FununsusinasnnsAI UL

77



BAHT

100

7.E+09 8
6.E+09 4
74
5 E+09 4 &
= 6
4. E+09 4 T
&
3.E+0S 4 o 5
8
2.E+Q9 3
%
1.E+09 1
0 E+60 44— —————————r——r ——
26 28 30 32 34 36 35 40 42 44 26 28 30 32 34 36 38 40 42 44
YEAR — PRC YEAR
280 64000
240 4
60000+
2004
S 56000
T} o~ )
S 180
oY
52000 4
120 -
80 4brvr—+r—r—+—+——v+—v--—-r—r-—r—rr—"+—r—— 48000 4—~—v—r—v—vr—v+r—v—v—v-vr—vr—vr-vr—r—rv—a—r
26 28 30 32 34 36 38 40 42 44 26 28 30 3z 34 36 38 40 42 a4
e YEAR o —— YEAR
[— INF] [— Por] 8
PRC = '



79

.. 2041 -2544

VRN .
. 2540
53
AT 6
2
149 1711 15 (
1207240109 . )
. 41 188
10
20 .. 2540
41
(
2541
.. 2540 159,456 .. 2541
50
.. 2542
159,970 ( .. 2541 0.3
2543 193,899  (

. 2525

. 2941

3.74)
26
320,000

.. 2542



21 ) .. 2544 227,386

.. 2543 17 )
.. 2542 5

( )
.. 2542-2544 (
4.1 Figure 4.1 4.2)
4.3
2

3 1)
concentration curve and Gini coefficient) 2)
(Shorrocks order two index)

1
A

2 Shorrocks order two (Ig) = 1S,[(Y,/M)-|]!

() ({6
4.2

- N

(SC)
. 2531 -2540
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4.2

.. 2531-2540

()
2531 56369 (632%) 32876  (36.8%) 89236  (100%)
2532 74099  (62.2%) 45003 (37.8%) 119,102 (100%)
2533 01337 (614%) 57490  (386%) 148827 (100%)
2534 113333 (625%) 67939  (375%) 181,272 (100%)
2535 141531 (684%) 65469  (31.6%) 207,000 (100%)
253 141404 (646%) 77402  (35.4%) 218805 (100%)
2537 155400 (646%) 85000 (354%) 240400 (100%)
2538 177000 (644%) 98,000 (35.6%) 275,000 (L00%)
2530 187,000 (645%) 103000 (355%) 290,000 (100%)
2540 203600 (64.8%) 110400 (35.2%) 314,000 (100%)

(market share)
4.2

(market share)

4.3 4.3



2531
2532
2533
2534
2535
2536
2531
2538
2539
2540

0132
0122
0114
0125
0.184
0.146
0.146
0.144
0.145
0.148

0.1406

4.3
Shomocks order two . . 2531 -2540

Sharrocks
o TEWO
_ 0.0345
-1.6% 0.0298 -1 3.6%
-6.6% 0.0258 -1 3.4%
+9.6% 0.0314 +21.7%
+47.2% 0.0674 +114.6%
-20.7% 0.0427 -36.6%
0.0427
-1.4% 0.041 2 -3.5%
+).7% 0.0419 +1.7%
+2.1% 0.0440 +.0%

0.0401
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4.3
Shorrocks order two
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43 10 (GC)

2 (2 0.114-0.184 ( 0.1406)
0.0258-0.0674 ( 0.0401)
(GC. 1 2 0.5
(N=2)) ?
2 2
( )
43
. 2531 -2533
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.. 2535
10
2534
120,000 230,000 92
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. 2535
.. 2534 113,000

2534 141,000 .. 2535 25
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.. 2534

68,000 65,500 .. 2535 4
2
10
.. 2535
150,000 320,000
2536 77,400 .. 2535 18
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4.4

(perfect market)
(imperfect market) (monopoly market)
(actual market) 4.1
(total variable cost) 2

()

1). (variable cost)
(linear relationship)
TC = FC+VC ~ FC#f(Q) ... (FC )

(MC)

Otc =dFC+ 0f(Q) =o+ddo=2a = MC ->(4.2)
dQ Q 0Q dQ

3) . (collusion)



Q)

1y (perfect competition market)

2
(price taker)

?!
?)
(AR) (MR)
> AR = TR
Q
= P x Q ZNP
==> MR = 5TR = d(PQ) = pb5q
oQ oQ oQ
( P dp )
oQ
-=> p =AR = MR

"
+ Q OP -

aq

)6 .2528)

153.

P
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' 0Q 45
4.5
AUNU & 313U I
T mMc
MC=MR
p° \
\'
5 N P Usaunmdum
Q
(Q0) (p°)

log DG, =- 73.98 - 3.74 log P, + 0.1 8 logGDP, + 0.33 logINFj + 1 .40log PoP,

logo,0 = -173.98 - 3.74 log p° +0.18 log Y, +0.33log 1 +16.40 log N

Q°)



?

INF,
PoP,

(price

(AR)

> AR

=> MR

90

= (2525 =100) (()
- (N’)

(imperfect market)

3
%
giver)3 vl
(MR)
= TR
Q
= PxQ = P
Q
= B5TR =(rq) = POQ + Qdp = P+Qor (4.3)
00Q 00Q 0Q 0Q 0Q
P D )
0Q
4.1

-1 73.98- 3.74 log p; +0.18 logY, +0.33 logl +1 .40log\,

1 (-173.98 -log Q*+0.18 log Y,+0.33 log I, +1 .40 logN)
3.74

log Q*

* 8§33 3¢ 188,



4.4

MR

-=>

dlogp* = -1

dlogQr  3.74
Q" dp* = -0.27
p* oQx*
ap* = -0.27 (4.4)
dor Q¢
43

P* + Q¥ (-0.27) x P*
¢

P+ . 0.27 P*
Pr( - 027) = 0.73PF  (4.5)
“ MR MR =073 P

0Q*
4.6

4.6

ﬁ

AuUNY & MU

MC

P Uhinaiiuda
Qt
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MC



MC

P'k

\VC

MR

MR

MC
0.73

0.73 P*

0.73 P= MC

\VC
0.73

MC = MR

4.4
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\VC

(

)
2524 1.728*
2323 1.778
2326 1.843
23217 1.862
2326 1.907
2329 1.941
2330 1.991
2531 2.063
2332 2.176
2333 2.307
2334 2462
2333 2.363
2336 2.647
2337 2782
2338 2,943
2339 3.118
2540  3.888

P-pt

1.778
1.843
1.862
1.907
1.941
1.991
2.063
2.176
2.307
2.462
2.363
2.647
2.182
2.943
3118
3.888

- VC( . .2523-2339) =

- ve( .. 232

- p-pf = perfect market price 1Q-pf = perfect market quantity 1TR-pf = perfect market total revenue

2340) =

Q-pf

443.38
336.91
733.48
944.01
1193.93
1486.1 1
1780.71
2013.44
2026.42
2102.84
2291.88
253747
2692.71
2770.38
2727.81
1490.84

P-mn

2.426
2.317
2.541
2.601
2.648
2.713
2.817
2.969
3.147
3.339
3.497
3.611
3.793
4.015
4233
5.304

fl

4.4
Q-mn P-ac
()
)
140.38 3.881
174.29 3.931
229.33  4.003
293.44 4131
373.63 4271
465.09  4.451
337.29 4611
630.11  4.631
634.19 4711
638.11 4811
117.27 4911
800.39 3.131
§42.71 3.231
867.02 3471
833.71 3.731
466.37 911
ve(

«

Q-ac

24.68
32.58
41.77
31.29
63.06
76.32
89.24
119.11
148.83
181.27
207.01
218.81
240.41
273.01
290.01
320.01

H. 2324)

93

TR-pf TR-mn  TR-ac
( ) ( ) ( )
791.89  340.36 93.76
1027.48  438.69  128.69
1363.74  383.29  168.33
1800.23  768.44  212.83
2317.46  989.43  269.27
2938.83 1262.72  339.62
3677.17 1369.89 41139
4381.23 1870.81  333.82
4674.93 199381  700.99
5177.19 2210.39 87191
3874.09 2308.29 1016.41
6769.62 2890.21 1127.09
7491.12 3198.08 1262.39
§133.23 3481.09 1304.38
8303.31 3630.83 1667.83
3796.39 247469 189158

- p-mn « monopoly market price 1Q-mn » monopoly market quantity 1TR-mn « monopoly market total revenue

- p-ac = actual market price 1Q-ac = actual market quantity , TR-ac = actual market total revenue
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MC MR (MC=MR) 9
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op’ 00,
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